
Adding decimals, measures and money (mild)

1. £24.47 + £18.28 = £42.75
2. £35.83 + £26.72 = £62.55
3. 482.4 + 271.3 = 753.7
4. 345.7 + 228.6 = 574.3
5. £45.67 + £19.99 = £65.66 quicker to work out mentally
6. 34.26m + 25.38m = 59.64m
7. 78.85m + 46.47m = 125.32m
8. £56.38 + £5.74 = £62.12

Adding decimals, measures and money (hot)

1. 345.7 + 228.6 = 574.3
2. £78.85 + £46.47 = £125.32
3. 457.8 + 364.5 = 822.3
4. 23.46 + 34.28 = 57.74
5. £56.75 + £29.98 = £86.73 quicker to work out mentally
6. 76.78m + 47.59m = 124.37m
7. 634.5 + 78.6 = 713.1
8. 45.38m + 8.64m = 54.02m

Practice Sheets Answers 

Challenge
Two amounts are added together, totalling £100.50 exactly.	
The total of the 10ps is greater than £1.
What could the two amounts be?
e.g. Any pair of amounts, totalling £100.50 where the 10ps total is >£1.

   £46.63
+ £53.87

© Hamilton Trust. Explore more Hamilton Trust Learning Materials at https://wrht.org.uk/hamilton 


